ESRA T R=2 RS 4 HOriES D% ST NS
1101 BT () TEH 32020 1skskskskskkk 2018 88. 63 =
1101 BB SCEUT () JE% R} 32108 kskskskokokkk 8413 86. 43 =
1101 BT () 2R 610430%xkkkkk%%0544 85.93 i
1101 e HE SCEIE () e [i#] 3305225kt 6 36.2 84. 30 3
1101 BT () J& 5 32098 2skkkkkk k0SS0 83.23 =
1101 ErhiE S 2 (—) BT 14229 8skskskskskekkk2 1 8X 82.33 5
1102 R CHOE (5D BWA 32028 stttk 029 R 5
1102 BB SO (5D KB Bk Bk 32092 | kkkskoork 022 88. 00 =
1102 ST (5D [1ER 370303%kkkkkx%3127 86. 77 =
1102 B E SO (D ZERE A 640321 $sokkoksk(052 1 86. 47 Py
1102 e E SCEOE (2D X RE 410223 %% %kx%8k0525 86. 43 =
1102 BB SO (5D i 15260 Lskskskkksik()] 22 85. 73 =
1102 e E SCEIE (2D BEEET 32068 1kskskoiokok 282X 85. 37 5
1102 R ST (D VFRERR 3212025k (032 1 85. 33 %5
1102 BT (2D RE T 36028 | kkkkkkk806 1 84.83 5
1102 BB SO (5D T Ak 320203k ] 822 84. 70 5
1102 B E SCEUE (2D R 360423k k2026 84. 63 5
1102 ST (2D 1 1 32012 1kskskskskskskk 4327 84. 60 5
1102 BT (2D TR ARk 41138 1 skskkrrrk 3024 84. 50 5
1102 BRI ST (D i E 36068 1xkskkkkk:0020 84. 13 %5
1102 E SCEIE (2D FLFE R 3201 1 4%tk 002 1 83.13 5
1103 RO (5) L% ix 32092 3skskskksieckoksk 0026 Bk 5
1103 E RO (5D KT 320829584k 2005 87. 50 =
1103 BB SO (5D s 320922554k 0625 86. 53 =
1103 RS (5D IR P 321023 %kkskkk%% (0227 85. 53 =
1103 AR ST (2D =K 34118 xkskekekerkk 2844 85. 47 o
1103 E ST (5D Fifi 16 52 32058 kskkkaroiokk ] 748 85. 10 3
1103 BT (5D ERLYiH 33032455k 3757 85. 07 5
1103 BT (5D KA 320684 %kkkkkkk2 1 68 84.97 5
1103 AR ST (=) BRI 32128 2%kskskkokkk 1 828 84. 10 %5
1103 R ST () K 320621 x%kkkx k%8723 84. 07 5
1103 e R SCHEUT (2D R 32028 1 skskskskoksiosk k6043 83. 80 &
1103 BT (D T4 411329%xkkkk%%5026 82. 40 5
1104 s ECERUT () N 410426%kkkkxx%1023 B i
1104 mPECERIE () (RRAAEEAS 5301023k k%2425 86. 13 &
1104 s () IR 410502%%kk535%009 1 85. 23 Py
1104 RO (O AEH 34082 Tskskekkokk 5829 83.23 e
1104 PR (—) N B 320928%*k4kkkk%k3121 82. 87 5
1104 EECERIE () EAR ] 342492 6kskskscksksk k2446 82. 60 &
1105 AU (5D Frlg i 320922s%kskskksk k542X 86. 57 Py
1105 R (5D JH£ 34162 1kskkkkkx 0717 86. 10 =
1105 AR (2D B 3201 24skskskkskokok 1 82X 85. 90 =
1105 PR (D WIS 32020 1 sksksioiororok 402 1 84. 73 =
1105 PR (D RHETE 32020 2skskskskskskskok 301X 84. 67 =
1105 R EEEROE (5D FEM 341225ssksksksksksksk 7046 84. 40 N
1105 E R (2D 2K 3424265k kskkk k%4249 83. 43 5
1105 m RO (2D N 321283kksiekkokk (0218 83. 30 5
1105 T (D Ean 32068 2skkskskkk 264 1 83.13 &
1105 E RO (D it 25 2 350582skskskstckskk 5020 82.83 %
1105 m P ECERUT (2D LS i 32132 3%kskskokok(041 3 82. 77 i
1105 mPECERIE (2D R 342922255k 3224 82. 17 &
1105 BRI (2D ERLES 41138 1xkkkrkxx8424 82. 10 s
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1105 RO (2D B 142703 %4455 2120 81.90 5
1105 AU (5D e/ 21052 1 ssksksotsksksk 0 782 81. 03 S
1106 mPECERIT (5D =R 32101 1sksksteksieskss09 12 K 75
1106 EPECERIT (2D ilsNE] 34011 Dkskkroikk 5025 87. 10 =
1106 R (2D IR 32062 1xkskkkkx%051X 86. 57 2
1106 E AT (5 1917 32092454k ] 22X 86. 47 =
1106 mECERIE (5D KR 32058 kskkkakotok k5142 85. 93 =
1106 mPECERUT (=) XIME 4101823kt 7566 85. 53 5
1106 mPECERIE (5D TRERES 320925k k52025 85. 30 5
1106 s ECEERUT (5D kL 32058 3skkskekkokok 001X 84. 87 &
1106 m RO (D Fifi I8 = 32058 3skskskekokokk 8927 84. 60 5
1106 PR (2D T i 32128 4skksskskk4k8024 83. 60 5
1106 AR ECERUT (=) R it 321088kksickkokek 5282 83.13 5
1106 BRI (5D 20 320683skskskskekekk(0329 81.83 5
1107 s IEEUT (—) P 321088kkkkkkkk 2855 87.73 =
1107 E P EERUT () T 32012 [ skt 0027 85. 10 =
1107 s EERUT (—) S E 32020 3skkskskkokokok ] 829 84. 77 e
1107 EHH SRR () XA 320682k 4700 84. 67 5
1107 A PIERUT () AR 13110233018 82. 30 5
1107 AR () KT 32028 2kskkkiokk 1115 82. 20 3
1108 R IGEHUN () G 32098 2skskskkskakskk (042X 88. 23 =
1108 R IHERUT (<D iR E 320204skkskskskskskk 302X 86. 73 =
1108 e R FHERYT () ThaHk 32020 4sksksksksksksksk 3024 86. 47 =
1108 A SRR (5D s 4203023k k3% 1 536 85. 93 =
1108 EHRILERUT (5D TR EAE 34242 Ttk 7424 85. 17 pas
1108 B IERUT (D B 32050455k 3028 84. 97 fn
1108 EH BT (2D R 32128 3kkskskkkkk 1241 84. 87 5
1108 AR IHERUT (—D Sl M 320202k 5020 84. 80 5
1108 SRR (2D IV 45 610321 %skkskkk4k 7226 84. 47 5
1108 AR EEEUT () A 32128 skt 0208 84. 40 %5
1108 A PIERUT (CD {5 i 3201 1 255k 0425 83. 67 5
1108 AR (2D v 321202%kskkkx%031X 83.13 5
1108 IR (2D E K 371526kt k4022 81.83 &
1108 AR IGERUT (5D VTR 37048 ksktkoroiok k6027 81.73 3
1108 EPIERIT (2D H -4 13040 3skseskosiork 1 227 81.57 5
1109 AR ILERUT (=) Ff 5 32092 53kkskskkkokok 0040 86. 27 =
1109 A PIERIT (5D BHIHEE 320203%ickkokk 2524 86. 17 P
1109 R IHERUT (=) L2 HE 320684 %kxxkk%% 1 365 85. 87 =
1109 EH RN (D PR 370702skkskskkkk% 2224 85. 60 =
1109 A GBI (&) BRJRER 321 18 stttk 082 1 85. 37 73
1109 R ILERT (5D IR 32012 sk 0044 85. 33 5
1109 SRR (=D AE & K 32038 ] stk 002X 84. 43 5
1109 EHRIHERUT (&) sk i 32028 Lsskskstokskk 352 1 84. 33 fn
1109 OB (=D THIT 32092 3kksdolokatook6024 84. 10 =
1109 EPIERUT (5D 2 32092255k 5429 83. 63 5
1109 AP EERUT (5D B 32011 3skskskkaroior ] 227 83. 23 3
1109 EPIERUT (5D [ FE T 3206845k 1 628 82. 73 3
1110 s YEEE ) BUE 37078 I kskkskoork 6522 88. 10 P
1110 s () LN 650204 %kkskkk0kk 1 212 87. 60 =
1110 s HEAE () FNFE I 23010255 k066 1 44 87.57 3
1110 s EHOE () X 341623 %kskskk5k%8 325 86. 60 7%
1110 s IEREUE () %= BH 320203k 1210 84.90 s
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SR RE RS 4 HOriES D% ST NS
1110 mHEYEET (—) K ke 131126%5kkxk4%362 1 84. 23 5
1111 S HYEET (D KA R 370828 %kkkkk0kk 2927 B 4
1111 m R IERT (2D RS 320204k 1 640 88. 60 2=
1111 EHERT (5D 7L Fiii FH 3202045545k 3018 88. 07 =
1111 T (D T B 320924%xxx5%%%902X 87.83 =
1111 R IEEUT (D SRl 320922skkskkckokk 3925 87.33 B
1111 EREEUT (D S 37040 2skkkskkkkk 2632 86. 57 2
1111 AT (D 2% [ Fifg 52249 Ttttk 7305 86. 47 5
1111 E P EREOE (—D T3 41138 skskskttorssk 7126 86. 30 &
1111 s PEEOE (2D (EEINS 36252 5%k kkkk k4839 85. 23 3
1111 ERIEET (2D Tk 32048 2skskskskssksksk 7330 85. 13 5
1111 EEEREOE (<D Y I —— 84. 87 5
1111 T (D lansl) 320282k kx5 1 429 84. 20 5
1111 E BT (D 2K BH 53042 3%kkskskkskok 166 1 83. 87 5
1111 E A EEUE (D THEE 36233055k 2818 83. 53 &
1111 EP AT () B e BRL 34122 5%kskskskskkk 751 1 82. 07 =
1112 ETREEUT (=) i S 5 32020 1sksksksieskskskek 3019 88. 10 7
1112 EEEEOE (=) TR 32092 3%k5%x5k%0016 87.57 P
1112 E R EAEOE (&) MREih 34220 1 skt 6720 87. 37 &
1112 s EEEOE (=) k376 Fi] 320682skkskskskskk 0 70X 87.13 P
1112 E T EEUE (=) AEEERN 412828 %k kkkkk0k 1 267 87.07 5
1112 s YEEE (&) PRk 3702845543k 2760 87.03 5
1112 EEEEE (&) TR KR 32058 3sktkstoleolok 022X 87. 00 3
1112 ER BT (=) iRE 32058 2skskkkokk k8247 36. 83 75
1112 S TPEEOT (=) it 321324558k 0 082 86. 40 &
1112 AR IEAE (=) B 32072 3s%kskskskokokxk 421 1 86. 33 5
1112 EHEEUT (=) RIEA 350823tk 6326 85. 57 5
1112 B RIEET (&) JHE S 52253 0sksksksksisisisk 1 326 82. 50 5
1113 P EERIE () i 2o 1eki 3201 1 5skskkkkk4524 87. 07 =
1113 AT () LG 32028 1 skskkokokokk 6522 84. 80 =
1113 m AT () JH&E 34220 1 ssktokkkx 2010 84. 40 7w
1113 P EERUT () Gl 321023 %kkkkkkk 6843 82. 87 5
1113 m AR (O Eh 13052 1 sksksotekokeek 6265 82. 10 5
1113 AR (— K 61052 7kskekkk:0029 82. 00 5
1114 AR (2D T2Ih 510182%kkskkk0kk 2025 B =
1114 AU (5D EES 3213228k kk0kk 241 1 B i
1114 s (5D A E B 362528k 8024 ot S
1114 AT () PNER 370828 kkkAkk 201 X T &
1114 AL (5D % 14020255k 4%% 704 1 88. 37 =
1114 AT (D FRERSE 321202kt % 482X 87. 67 Py
1114 s (5D MR E 37048 1 kskskskkksk 1 886 87.50 =
1114 AT (5D AR 612324k %%k 0043 86. 87 =
1114 AU (5D 7Kk M 211103k 0926 86. 00 =
1114 AR (D F2E 3206823kskkkk%0024 85. 53 i
1114 AR (2D Bt 140424%skksk4k4k481 4 85. 10 &
1114 AT (D FFHy 32028 2skskskskokokk 541X 85. 03 %5
1114 Ak ST () (5 34229 5ssksksiskskskek 4439 84. 63 &5
1114 YT (D B i 340323 %%k 082 1 84. 50 5
1114 b EEROE (2D YLz 330822skskskskskskskek 4 24X 81. 20 5
1115 AR (5D F5 32012 skskskkariork2110 88. 67 =
1115 AR HUT (=) N\ ap 32021 1 sekskkkokkk (0012 87.73 B
1115 RN (D =559l 320202%kkkkkk %4555 87. 70 &
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1115 E PR (D KR 340504 %x%x%5k%%021 3 87. 47 =
1115 AR RN (=) M H B 360782xkskskkkk% 1324 86. 37 5
1115 Eb T (&) K 32092 3kkiekkekk 0045 86. 20 5
1115 R EERUT (=) X 341623%xxskkokok 1 52X 85. 73 T
1115 AL (5D JE KSR 34022 3skk5kk5k% 5823 85. 10 =
1115 A ERIE (5D =R 32128 kskskkarior k698 1 84.23 3
1115 AL HOE (5D RIBUE 3402025548k 0049 83.97 5
1115 AT (2D {A] B 45 622630%kkkkkkk ] 369 83. 00 5
1115 EPHFEEIN (=) o 320928kskskskksksk k3485 81. 33 &
1116 B BUA U LR 342626kt 5066 89. 70 =
1116 T BOA #UT AR 411525%kk0k k346928 87. 37 pas
1116 e G B ML 341302%%%xx5%%1021 85. 70 =
1116 i T BOA HUT FB T 320582%kskskkkk% 1 765 85. 47 fn
1116 = BUA BUT gk A i 51101 Ik 1 768 83. 83 i
1116 e R BUE HU (AR 130425%%55k44%5529 83. 10 5
1116 = EGA BT 2T 32098 2skkkskekskskk 6 1 2X 82. 20 5
1116 o P BUA BT JE IR BE: 320282k kkkkkk 3582 81. 70 5
1116 = HHEGA BT WX 220882kt 31 4 1 80. 23 5
1117 e P S U e J R 500102skk%%55k%9 062 86. 00 =
1117 5 G S g s 3401 22s%ksksokskokk 7 388 85. 03 Py
1117 e D s U LERE 32028 3kkkkkk0k0025 83. 27 =
1117 i s U TKERAX 340104%sksksksksksk 1 524 82. 17 5
1117 [elaalib Gl W& HE 32028 2sksksksksksksksk 020 1 82. 00 &5
1117 i s U [ & 34250 [ skskskoksokok k4828 81.87 5
1117 e b ST etk 320585kksksokskokk 3522 81.27 i
1117 L] EESL 410481 stttk 002X 81.23 i
1117 [elaal/ib Gl BT 320584k k(0029 81.17 =5
1118 LT (—) SRS S 1301023k 0326 R 5
1118 BT () FLoC 22020 3kkkkkkk k6542 87. 50 =
1118 A E AT () XI 22 R 320105k 1 627 86. 13 =
1118 e T (—) Y BETE 32092 1ksksksrksrkk 0022 85. 80 =
1118 BT (—) [19/1B'E 320203 %%k x4%1816 85. 73 5
1118 T (—) FHEFE 130302skskskkstokok 1 624 85. 23 %5
1118 BT (—) XU E 4290065++kkkk 2410 85. 17 5
1118 P HLER YN (—) FEH 321027 *x4kkx%%482 1 83. 27 5
1118 AR BT (—) B K 620502kskskkokkk (0468 82. 47 75
1119 ERHERET (2D R 330324skkskkokokok 3425 88. 50 B
1119 BT (D JEARA 43052 1 xxxxx%%%0994 88. 47 =
1119 T () Rl 320602 k%K% 3039 88. 43 =
1119 T D JA 320103 %kkk5k55%2263 87.23 pas
1119 RO (5D HECET 4107243583k 3549 87. 10 &
1119 T (D B2 75 P 320584tk k4429 86. 70 5
1119 B () 7 371102%kskkkkkx 7828 86. 50 %
1119 ST (D BRI 14240 1 %%%%%%%%0328 86. 07 5
1119 P EOE (D HBRR SZ 33012 7kskskstskskokok 3122 85. 57 5
1119 U (D R 3209258k k7423 85. 13 5
1119 s T () B8] 340803 %kkkkkkk2 1 25 84.93 3
1119 T D 7K 32010635k 2429 84.13 5
1120 AR E B EYL 32028 2sksksksksksksk 0374 87.27 =
1120 AR B 1A 341224skkkksckokk 6416 85. 10 =
1120 A B BT REEVE 32100355tk 571X 83. 80 =
1120 AR B K i 32028 sksksksoksksksk 3024 83. 20 5
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SR RE RS G HOriES D% ST NS
1120 e R T sk hnhn 32028 2%kkkokkk k5220 82. 63 7w
1120 R B XIRE IR 32128 3kxkskskokok k7020 82.57 5
1120 = AR E HUm = KUK 3208265kt k 2223 81.90 &
1120 R B BT iR 34012 1skskskkokokk 4019 81. 70 5
1120 A B U gk 32028 I skskseksieksksk 3270 79. 47 75
1121 s SRR HUT 2 32108 | kkskstckkoksk 8429 87. 50 7
1121 s B AR AEIH A 320283 kkskkkkkk 1526 87. 10 i
1121 s B R AR T A I 320283kt k 757X 86. 30 P
1121 s B AR U IS 5 B 362202k 5kkk5k%4 025 83. 90 &
1121 s SRR HUT R 62272 2%k 1 046 83. 57 5
1121 s B AR U Wk IE 3 32031 1skstotrokskk 7317 83. 30 &
1121 s B AR U S 370303 s%skskskskskk 6323 82. 87 5
1121 s B AR U 2K 612429%kkskkkokok 4665 82. 53 3
1121 = s B HUT XF IR 32038 skskskkokkk 7629 81.83 %5
1122 HIHESCHUT () +1a 340823k k62X 84. 40 =
1122 I E SCEUE () ARIKEK 3501 25%kkkkkk k2449 83. 90 =
1122 HIHIESCHUT () gk 34118 1 sksksioioolok 5326 83.73 5
1122 HIhESCEUR () EST 42070 4skskskskskk5k ] 568 83. 63 75
1122 HIHFIESCEIT () FRAE Fap 34120 4skkk5k5k%% 1 223 81.23 7w
1122 YR SCHEIT (—) JHE=E 341126%kkkkxx%2023 81. 03 %5
1123 B SCEUR (D mEF 32108 4%kkxkkk% 1522 86. 00 =
1123 I E SCHUT (D i I 320582k xxxkk%k%5424 85. 20 =
1123 BIIE SCEUT (D) A 320684355k 1 620 84. 77 =
1123 I E SCEUR (2D S ik AR 34242 5%k kkk k4042 84. 20 3
1123 HIHE ST (5D BT 32048 3kkkkxkk 2323 83. 77 5
1123 IR ST (5D PN 32058 I ssksksskekk 2320 83. 67 5
1123 HIHIE SCHOT (2D A 510722skskskskokokok 7483 83. 60 5
1123 MR ST (5D XA 15263 43kskkk4k% 3924 82. 30 5
1123 B SCEUR (D T AR AR 340104s558k5k%0523 81.77 5
1124 1 B HO BB 32021 Iskskskskskskskok 2526 87.73 =
1124 W BCEE BT FKEO 150203%sksk5%%%%4522 83.73 =
1124 I B KRG 32028 | kkkkkokk 9028 82.93 5
1124 W BCEE BT R F 32128 | kkkkkokkk 7623 82. 37 5
1124 IR 2l PSR 412728%kxskskxkkk 452X 82. 30 %5
1124 W H T B 0 32058 Lskskskekstokskk 0945 81. 60 3
1124 I B Z2—x| 32012 kkskkkrkd 121 81. 30 i
1125 B4 & o Ji 3Ll 371 102sskskskstskskk 7857 86. 70 =
1125 B4R & 2o KER 37112 Iskskststokskssk04 16 86. 27 =
1125 YIPARE FUh JBg1 45 1 320205%kskk%%0024 85.93 =
1125 W4k & BU SR i 320206kkksksokskok [ 223 85. 40 pas
1125 W44 & U JFg 4108823k kxxk%8564 83. 63 3
1125 W B KA 341623skskskskskskokok 202 1 83. 07 3
1125 W4k 5 AP 340702skkkkskokok 7564 82. 00 3
1125 IR & B 5 i 14018 1 sk 1421 81.27 5
1125 LR TEK 3212834646226 81. 20 3
1125 RNV (E[S 34150 2skkkksickokk 8564 81.07 3
1125 WA E B LU 320826%:k:kskskkokok 5012 80. 70 5
1125 WA E HU 2tk 32083 0sskskskkskorsk 1 62X 73.53 s
1126 NEEAE ST =l 320682k kkkkkokok 1 737 88. 63 =
1126 INEEAE LR [ s 52 32062 1kskkkkkk k8722 88. 20 A
1126 /INEEE ST B4 320923 %kkkkk0k% 1 225 86. 47 pas
1126 N LU Tz 32048 3%kkxkk%k%0947 85. 53 =
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1126 /N SR R E#T 32058 skt [ 621 85. 43 5
1126 N S AR T 32108 Ik (0326 85. 17 5
1126 I ST JEiG B 32020 2sksksksksksksksk 1 520 84. 07 &
1126 /N R ST K 35032 sekstetsiekskk 5225 83. 10 3
1126 INEEAE ST H iR 32050 3skskskksieckoksk 2260 82. 67 5
1126 NEEAE LR (EE 32020 1sksksikokokk 2028 82. 60 5
1126 INEE ST SEE) 32118 1skskskkokokk 5982 81.63 5
1126 N S T2t 370303 skskskskkokokok 7224 81. 40 5
1127 NFERCEE T EENTE] 150304skkkks4k4k 1 026 T2 &
1127 NFEHCE BT (DEAIE 320204skkkkskokskk 3029 87.07 =
1127 AN T 4 320928kkskkkkk 864X 87.03 =
1127 NEEREE T F RS} 32058 ksotokokkx 2823 87. 00 2
1127 NIRRT 5 32092 3kksdokokakdokS 1 22 86. 57 T
1127 AN B 5L 1H 522626%k4kkk4k0029 85. 87 5
1127 INFRCERT P IR 32028 2skkksksiokskk5423 84. 90 75
1127 N R U BRI 32028 Jskkskrekokokk 3928 82. 87 =
1127 INEE BT AL 3201048k k4% 2037 82. 37 &
1127 /NSRBI P 41162 Lkksksktokerk®k 1040 82. 30 &
1127 INFRCERT &3 340222k 0020 81.97 75
1127 NFERCE BT R 3709825kt 6886 80. 90 5
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